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In a Versa Secure SD-WAN solution, what are three functions of a hub controller? (Choose three.)

A. It does CPE lifecycle management.
B. It is a control plane node.

C. It is a data plane node.

D. It provides visibility and control.
E. It can be a staging server.

Answer:B,D, E

You have configured a Versa Secure SD-WAN solution with a Full Mesh topology.
In this scenario, which statement is true?

A. The CPE devices send SLA probes on the active forwarding path only.

B. The CPE devices send SLA probes on all possible transport paths between devices.

C. The CPE devices send SLA probes to the Versa Controller, and the Versa Controller distributes active
site statistics to other CPEs.

D. The CPE devices send SLA probes to the Versa Controller, and the Versa Controller relays the probes
to CPE devices.

Answer: B

A customer has a single Versa Analytics cluster deployed in a data center. The Versa Director and Versa
Controller nodes are distributed between the data center and the disaster recovery sites. The data
center goes down for one day.

In this scenario, which statement is true?

A. SD-WAN CPE live monitoring will be lost during the one-day downtime.

B. New SD-WAN CPE cannot be deployed during the one-day downtime.

C. Reachability between SD-WAN CPE will be lost during the one-day downtime.
D. Logging and reporting will be lost during the one-day downtime.

Answer: D
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Which set of conditions match the policy shown in the exhibit?

A.

Traffic flows that meet any one of the following three conditions:
Source Zone - Intf-LAN1 Zone

Source Zone - Intf-WLAN-Zone

Application - SharePoint

B.

Traffic flows that meet any of the following two conditions:

Visit us athttps://www.examshboost.com/test/vnx100/


https://www.examsboost.com/test/vnx100/

Source Zone - Intf-LAN1 Zone

Source Zone - Intf-WLAN-Zone

In addition, the below condition must also match
Application - SharePoint

C.

Traffic flows that meet any one of the following three conditions:
Source Zone - Intf-LAN1 Zone

Source Zone - Intf-WLAN-Zone

Application - SharePoint

D.

Traffic flows that meet all of the following two conditions:
Source Zone - Intf-LAN1 Zone

Source Zone - Intf-WLAN-Zone

In addition, the below condition must also match
Application - SharePoint

Answer: B

What is the default load balancing algorithm set in an SD-WAN Forwarding Profile?

A. High Available Bandwidth
B. Per Packet

C. Weighted Round Robin
D. Per Flow

Answer: C
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